M SESHD
Zu: oo BF Y IXHD(BYLS/MGHLE - 27)

o BAIXIAE &S (St &)
=|  x:‘cu o : t=l o o ] o @55 1=
2AH -3 . A2(3) - HEAL - BHEE Ofl &by 0l &bk - Husz

B SNl 225,123, 74 232,950, 119 27,826,379

= 138,374,864
Xl 71,619,000
Dl 944,490
== 14,185,386
9o B Y HUMD(BBES/MOIAE - +8) 225,047,688 232,896,954 A7,849,266
= 138,374,864
Xl 71,619,000
J| 944,490
T 14,109,334
BAIEAE BE 128,359,923 35,302,513 26,942,590
= 125,244,000
(= 3,115,923
22=AE 22 - 22 10,000 10,000 0
202 G4 8i 10,000 10,000 0
01 =2 LAl 10,000 10,000 0
OEHIIEZANE 2l & N=FH 10,000
SLHEA LAY (2D) 2,408,000 500,000 1,908,000
= 2,408,000
403 IMtXISHSAE0lH 2,408,000 500,000 1,908,000
= 2,408,000
01 IXSHXEEX 2,408,000 500,000 1,908,000
O2XHelAld &= 2,408,000
= 2,408,000
St&XelZ &=(=1) 27,657,685 25,349,671 2,308,014
= 25,159,000
& 2,498,685
403 XSS =0l A 27,657,685 25,349,671 2,308,014
= 25,159,000
o 2,498,685
01 AXSHXEEX 27,657,685 25,349,671 2,308,014
Odt=XMel& &l - B4 I W 27,657,685
= 25,159,000
= 2,498,685
St4XelE sX]el2 &s(=21) 2,135,000 4,732,000 22,597,000
= 2,135,000
403 MXICHHISAHE0IH 2,135,000 4,732,000 22,597,000
= 2,135,000
01 AXESHAEER 2,135,000 4,732,000 A2,597,000
Odl=xeld SAc=2 Ag 2,135,000
= 2,135,000
ot4=2tH FHHI(=21) 47,324,000 57,922,900 10,598,900
= 47,324,000
403 XX SHSK=0| ™ 47,324,000 57,922,900 210,598,900
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SN AEEED
B Qo2 PX Y INHD(BBES/MGEE - 4F)
Sel: BAIZAL BE (erel:@R)
 BA- R OS(E) - NRAY - BaES ol e g HRE
T — — = 7,307, — '
01 AR MR =R 47,324,000 57.922.900| 10,598,900
osta2I =H| 47,324,000
2 47,324,000
=0/= DIS5t4E =HI(21) 19,407,953 21,356,042 1,048,089
= 18,865,000
= 542,953
403 XHXIEHHIS XHEO0I & 19,407,953 21,356,042 A1,048,089
2 18,865,000
= 542,953
B BT 19,407,953 21,356,042 ~1,048,089
O=0lE DISst4E FH| 19,407,953
2 18,865,000
= 542,953
StaBAFH BTLAGE XS(2D) 17,165,000 17,165,000 0
= 17,165,000
403 XHXI EHHIS XHE 0| & 17,165,000 17,165,000 0
2 17,165,000
0 AR ERE 17,165,000 17,165,000 0
OB+ FH| BILYUE X2 17,165,000
2 17,165,000
SAES H2(2D) 11,688,000 8,142,100 3,545,900
2 11,688,000
403 XX EHHI S XH2 0| & 1,688,000 8,142,100 3,545,900
2 11,688,000
01 KRS HAGESE 11,688,000 8,142,100 3,545,900
NP 11,688,000
2 11,688,000
BCI S4AKE &X(2D) 564,285 0 564,285
2 500,000
= 64,285
403 XHXISHHI S XHO0| W 564,285 0 564,285
2 500,000
< 64,285
0 M SAREEE 564,285 0 564,285
osEs staHaN &x 564,285
2 500,000
< 64,285
sze 24,081,941 31,374,750 A7,292,809
2 6,590,600
x| 13,427,000
) 944,490
= 3,119,851
MEfSHE =RA(2D) 14,912,000 18,269,000 £3,357,000
% 13,427,000
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FA +E2FD
o gtes B8 2 MM (B#BES/Yorr - +E)
=8 B —*.—"'a*?* He (93 e)

A -3 H(alJﬂ) )dl At&' Hes | oo

1,485,

403 XHXI SR S KH2 0| & 14,912,000 18,269,000 £3,357,000
Xl 13,427,000
[ 1,485,000
01 RXISHH K= X 14,912,000 18,269,000 £3,357,000
OMENBIE ZRIA (BHA4H) 6,500,000
Xl 6,500,000
OMENSIA =R (IIEIKI) 8,412,000
Xl 6,927,000
= 1,485,000
BIEQEMZAIY(2D) 7,854,451 10,871,500 £3,017,049
2 6,590,600
= 1,263,851
403 XX SHH S X0l & 7,854,451 10,871,500 £3,017,049
2 6,590,600
= 1,263,851
01 RIXISHH =S X 7,854,451 10,871,500 23,017,049
OHIEQY MU 7,854,451
2 6,590,600
= 1,263,851
HIE QM2 AY 300,000 288,000 12,000
207 O I H| 200,000 0 200,000
01 el gy 200,000 0 200,000
OAUSAR HIHSARDRIUH AHH LY 200,000
403 XtXI S X S K= 0l & 100,000 288,000 £188,000
01 RHIXISH =R X 100,000 288,000 £188,000
ODNUX YL BELEHY SLATHAY 100,000
HEALH JIZSLHU(ZD) 8,150 6,150 0
Jl 6,150
202 04 6,150 6,150 ' 0
bl 6,150
01 2LH01HI . 2,150 2,150 0
OUELLN YPET 2,150
J| 2,150
04 2H 804l 4,000 4,000 0
ogome HTX 2ois 4,000
p] 4,000
BHA 4N JI22AAHI(2D) 21,000 21,000 0
p] 21,000
201 LEr2YH| 3,500 3,500 0
p] 3,500
01 At 22/t 3,500 3,500 0
OQIZICHY XIRAIY B2 L AN S 3,500
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A SR
HH: U228 22X 2 IXMI(SHES/MEILE - +=F)
cel: SIEA A (Sl ®e)
- /d A - qﬂ(sma) e Ara - Bas oo mme RS gl
202 o4 8l 17,500 17,500 0
Il 17,500
01 =L HI 7,500 7,500 0
oSt gRF& 7,500
pl| 7,500
04 = MG B 10,000 . 10,000 0
ogdze HEX 2 10,000
Il 10,000
AL EASHES XA (21) 93,000 93,000 0
Il 93,000
403 XHXIEHHI S =01 & 93,000 93,000 0]
pl| 93,000
01 XIS EEX 93,000 93,000 0
OUIZICEHH ~EENES K& 93,000
Il 93,000
St FDXRAS(=ZD) 4,340 4,100 240
Il 4,340
202 O Bl 4,340 4,100 240
Il 4,340
04 =X 3o Hl 4,340 4,100 240
OFAUXN ALY HEX =22AAHAS 4,340
| 4,340
SEL4H SEQHEEY JEHE £+ (21) 142,000 0 142,000
Il 142,000
207 A FIH | 142,000 0 142,000
| 142,000
01 R ESH| 142,000 0 142,000
odYEAXIg = JI2HE 8 HREH 142,000
Il 142,000
AL £EQAE J|I2HE £B(21) 628,000 1,696,000 21,068,000
Il 628,000
101 2148l 50,000 50,000 0
Il 50,000
04 JI2ZtNIZ2E2EXNHESES 50,000 50,000 0
OQ&EIoIE Q1A 50,000
Il 50,000
207 &I 2| 578,000 1,646,000 21,068,000
| 578,000
01 g4 578,000 1,646,000 1,068,000
ostd+ JIEHE 8 g4 578,000
Il 578,000
23 ZHSEY(2D) 90,000 90,000 0
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SN SEBHD
Ty 22 2X Y IAND(BILS/YGHLE - 28)
SHel: 2EEY N

| ”#fd @ﬂ CH(EDII) Ve Al%i Egs e
T —w
[ 40,000
307 2I2t0l ™ 90,000 90,000 0
J| 50,000
[ 40,000
02 QAAMANYEE 90,000 90,000 0
02018 ZH2HSELY 90,000
J| 50,000
[ 40,000
FEQY ZH A Ol O 18,000 19,000 £1,000
201 YLBr2 Y H| 17,000 17,000 0
01 AL 22IH 3,000 3,000 0
O4EY EH =T 3,000
02 B2 9,000 9,000 0
O4+HHY HAZANAEH KX - B2 9,000
03 S ALS S H 5,000 5,000 0
O+EYE SUH A3 A 5,000
301 LEtE A 1,000 2,000 21,000
00 BALAIHI 243 1,000 2,000 A1,000
O4+EE SN U39 AHIEA 1,000
FE20F AFSIEHH 2UASSKR 13,000 13,000 0
307 BI2t0I & 13,000 13,000 0
02 QIZHAMAISEE 13,000 13,000 0
O4+HE0F ABIEHH ZUAHEXH 13,000
SXHe IR 1,036,850 266,900 769,950
= 699,600
[ 337,250
82 &/JH/X 25 A 71,000 71,000 0
201 LBt 23,000 23,000 0
01 At 22IH 3,000 3,000 0
ostARS s &S 3,000
03 A2 | 20,000 20,000 0
oL s &S 20,000
307 BI2t0I & 48,000 48,000 0
04 DIZFSHAIAI B X 48,000 48,000 0
OBt AAH- MEH - 23 AIE B2 48,000
AR JMRIAD F=3 27,900 27,900 0
201 L2 3,900 - 3,900 0
01 ALR 22l 3,900 3,900 0
OMESIHER IR24+Y S $EEN J2zX 3,900




2AM: 22X
M 22 2d L IIXMI(SHES/MNEIEE - £F)
e 258 JIXIH D the &)
Q V' ﬂ q.o 7 - :, = HMS ‘ | ol @EE e
202 ¢4 Hl 24,000 24,000 0
01 = LHOdBI 24,000 24,000 0
cAEFEN L T IXIHD 24,000
QMR AIE 22 52,500 52,500 0
201 Bt gH| 2,500 2,500 0
01 ArR22l ! 1,500 1,500 0
OLM2HE qREANES 1,500
02 82224l 1,000 1,000 0
o2& 3 AS I 1,000
308 At XIS SO0l & 35,000 35,000 0
(023 EamE b= 35,000 35,000 0
OLLMIANEEZ RS 35,000
401 AIEHIL S 0HYI 15,000 15,000 0
01 Al&H| 15,000 15,000 0
OM2AAIE SAE4H| 15,000
JIEEX HEAMY(2D) 805,350 0 805,350
= 619,500
== 185,850
403 XXM S =201 H 805,350 0 805, 350
= 619,500
T 185,850
01 RtXICHHEE X 805,350 0 805, 350
QIIEMEX HSAY 805,350
= 619,500
= 185,850
HESZSAME AENEMY(ZD) 80,100 115,500 235,400
= 80, 100
403 XSS 20| A 80,100 115,500 235,400
= 80, 100
01 RtXICHHAESE 80, 100 115,500 A35,400
OH=ESSSAE AEd A 80,100
= 80,100
OtXE 2 HEN B3 70,945,974 65,671,791 5,274,183
= 5,840,664
Xl 58,192,000
== 6,913,310
oINS H=g8 33 F& 10,000 10,000 0
201 LBr23H| 1,000 1,000 0
02 22| 1,000 1,000 0
ost=34dt+= 3lH| 1,000
202 (44| 9,000 9,000 0
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BN ARSED
Hu: ote2 BF o IXNMD(BYRS/MGEE - 2F)
ol OIFE 2 OFE =2
kl‘@ﬂ q-rl(il)ll) )dl Al‘%" @
ETEL - 9,000 9,000 0
NATAE B2 S HNED 9,000
M4SN FOIXA(2D) 1,060,664 1,059,737 927
2 1,060,664
403 RHXISHRIS XH2 0| | 1,060,664 1,059,737 %7
2 1,060,664
0 XIS ESE 1,060,664 1,089,737 %7
oNARBETY FOINY 1,060,664
=2 1,060,664
S0jE MEE2 H2(2D) 35,738,510 41,307,721 5,569,211
7 31,667,000
= 4,071,510
403 XHEISHHI S XHE O ® 35,738,510 41,307,721 A5,569,211
7 31,667,000
= 4,071,510
01 HRSHA =2 X 35,738,510 41,307,721 5,569,211
Os0l= MEEs Yy 35,738,510
X 31,667,000
= 4,071,510
AR AEAE HB(2D) 6,990,000 8,001,000 21,011,000
X 6,990,000
403 RXISHRIS KH2 0| ® 6,990,000 8,001,000 21,011,000
7 6,990,000
01 X SAAEEE 6,990,000 8,001,000 21,011,000
OATR AT AA 6,990,000
T 6,990,000
%P AAFEHAX A& (2D) 6,214,000 650,000 5,564,000
2 4,780,000
= 1,434,000
403 XHXISHHI S XHE O B 6,214,000 650,000 5,564,000
= 4,780,000
= 1,434,000
01 RXISAREE X 6,214,000 650,000 5,564,000
OYT ALHBHAX A& 6,214,000
=2 4,780,000
= 1,434,000
SIS K28 =& 60,000 60,000 0
403 XIS S KH2O0| ® 60,000 60,000 0
0 HKSHR=ERE 60,000 60,000 0
OSMUXE 25 22 ¥ M4 He 60,000
ABOTL HL(2D) 4,510,000 1,500,000 3,010,000
x 4,510,000
403 XIS S K20 ™ 4,510,000 1,500,000 3,010,000
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SN SESED
o HeE B U INHL(BIES/MTAE - 27)
el OIFE B AFX 32

K olaren
] i 7,570,000
0 ARG =EE 4,510,000 1,500,000 3,010,000
OO IA e 4,510,000
% 4,510,000
CEAAT FH|(2D) 16,012,800 5,736,000 10,276,800
% 15,025,000
= 987,800
403 THXISHRIS K20l & 16,012,800 5,736,000 10,276,800
X 15,025,000
T 987,800
01 SR =SE 16,012,800 5,736,000 10,276,800
OXILALT B3 16,012,800
T 15,025,000
= 987,800
ZaHANS 2 =X =7 200,000 0 200,000
403 XHXIEHHI S X201 & 200,000 0 200,000
0l XA ESE 200,000 0 200,000
OLs FASI| A 200,000
HIAQHY 1= B2 2E 150,000 0 150,000
401 A& HIZ 2018 150,000 0 150,000
01 A&l 150,000 0 150,000
ONAT HIAMAY 1= EHs HE 29 150,000
sIEA 2aHH 153,000 281,000 £128,000
OIECE ZEHTA X4 153,000 281,000 A128,000
202 O4H| 3,000 3,000 0
01 2LHo | 3,000 3,000 0
OOLECIS BI&A Jt3I| AFAF 3,000
403 IXISHEXZ0IH 150,000 578,000 £128,000
01 RS =S E 150,000 278,000 A 128,000
Dxs A HA - 22 150,000
A2QUK S=8 2eAH =4 470,000 0 470,000
DIHLRE AlAS =7 360,000 0 360,000
201 LB H| 60,000 0 60,000
01 AL 22|t 60,000 0 60,000
OUBEE ADHE S 29 60,000
401 Al EHIZECHH] 300,000 0 300,000
01 A& H| 300,000 0 300,000
027/ SHAACK OIAEEH B9 300,000
2212C HOIHME & 7= 110,000 0 110,000
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SA: SRR
Hu: 92 BF U IAHL(BADS/YFLE - 27)
@l =g80u Xl g%@ EéE-IﬁE:I x4 (9 HH)
BB S = i PR B
- = az-ﬂ qv{(ﬂfﬁﬂ) e M%’ Iﬁegﬂ Aoy She | misa
201 2ut2AH| — - 80,000 0 o 80,000
01 AR 22| 40,000 0 40,000
@21 EXwX EEZ2E HE 40,000
03 A2 H| 40,000 0 40,000
©Jg =Xl OHHEY =& 40,000
202 O H| 30,000 0 30,000
01 2 A HI 30,000 0 30,000
OJIg X OHHE =& 30,000
HAE2AHYI(=ESEL)(OIEHIIE 52,782 53,165 2383
J|l23aH| 52,782 53,165 2383
EA29 J|23dH| 52,782 53, 165 A383
201 B2 3| 34,182 33,965 217
01 At 22l bl 34,182 33,965 217
OEA2H A2l 34,182
202 o4 Hl 14,400 15,000 2600
01 =2LHGHI 14,400 15,000 2600
ORA2Y =LKL 14,400
203 P RF&H| 4,200 4,200 0
04 EA2ILLRFXH| 4,200 4,200 0
©2521 0|5t 350,000& *12& 4,200
HNAAU| (EE2ED =X A )(IIEHDIEH 23,270 0 23,270
JI2AI (=X AY) 23,270 0 23,270
SA2Y 23U (=T AY) 23,270 0 23,270
201 22| 15, 171 0 15,170
01 At222lbl 15,170 0 15,170
OFA2Y AIR2eld] 15,170
202 G Hl 6,000 0 6,000
01 =LA HI 6,000 0 6,000
OF A LH O Bl 6,000
203 R F &I 2,100 0 2,100
EA2YLARFAH| 2,100 0 2,100
©1092! 0l&t 175,000 x 128 2,100
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